Tcal

Tcal

Tcal

Tcal

Tcal

Tcal

Tcal

1.04
1.02
1.00
0.98
0.96

1.04
1.02
1.00
0.98
0.96

1.04
1.02
1.00
0.98
0.96

1.04
1.02
1.00
0.98
0.96

1.04
1.02
1.00
0.98
0.96

1.04
1.02
1.00
0.98
0.96

1.04
1.02
1.00
0.98
0.96

29may13 a2130 alfaCalDeflection vs za beamO

o
o

10 15
za

U 0
oo
W >

beam1

N

0

=

o

5 10 15
za

median filter to 12.2 secs
beam?2

n

0

=

o
o

10 15
za

beam3

N

0

=y

o
)]

10 15
za

beam4

n

0

I

o
o

10 15
za

beam5

n

0

o
)]

10 15
za

beam6

n

0

o
o

10 15
za

n

0



